=—RFEIRE R
¥
iR sl
VAT, %E5 00 E DS BT 55 BASHSESEFL.

2. EEFEN, BHE/MIERE, AEEEEEF LXNNAE KNERR SRR NRSE),
RBREET#E, BERIMMEREFS. BERLREN, BERSEEEF LSEARASE
TR

3FERG W, BAREMERR—HME.

4EBEEEERAR: RESHHZEME REERBASEX ZAREER=AK.TH
e B, B E BB SAR LA AT LA
— EFEE. AL 8 /ME, B/MNES 4, 3t 40 S B/ PMEABKINANET R, RE TR

L EERE.
s U ={1,2,3,4,5LM = {12}, N =123}, m§,(MUN)= >

A{450  BAL2} {23} D.{L.345}

2+ 4i
2 EFM_

6 8. 8.
A———1 B.2+—1
5 5

8. 6 8.
C.—2——1 D.——+—1
5 55

3.a%u$4m§a,5f%ﬂ(mzz})-(a-z;):—? Wz5- O

1 1 1 1
A — B.— C.— D.—
2 3 5 4

4.CmELH{a, | TR TN S, 0 +ay +as =1a, +a, +a; =2, WS, -S;= C )
A.18 B.54 C.128 D.192

2 2

5.CURI O NALER B A, A,B,Fﬁj\%ﬂ%fffﬁﬁC:x—2+z—2:1(a>b>0) [ 2 T b TR £ 24 2 P ZE A
a
ClL, HPF LOF, # AB // OP, WA C E0% AR ( )

A.l Bl C.2 D.g

2



T T

6.ae| =, = |,fe|l=,=|, Hsina+cosa=~2cosB, M ( )
42 4 2

Aa+f= B.a—ﬂ:%

C.a+pf=

NN BN

Vs
Da-f=-=

a-pf 2
TADFEFP A S, IR ERIRE R 6°C, AR R 6,C, U min 5 AR
g CHHAN g = 6, +(6, - go)efi KA AR 73799 100° C F 60° C HIPTEIAR N IR 2 20° C IS

AR, EAARIXERIARIREZ ZANEIE10°C, E0EZT ( ) (B: In2=0.69)

A.2.76min B.4.14min C.5.52min D.6.9min

9 1 2
8.CHla=In—,b=—,c=¢ *, N ( )
8 9

A.a>b>c B.a>c>b

Cc>a>b D.c>b>a

TR AREIL 4 NE, BB S 4, 3520 HEB/MNERHEETF, FETFAEEE
REWIEXHIE S 70, WAETEIRT 2 2, FEHERE 02

0., E=MA ABC— A'B'C' W, LIRIMZRNK N2 W=/, FIREZRBERN 22 M%IL=1
B, kKA L, W)

A.CC' L A4
B.CC' L AB

C.HZ CC' 5-1ii ABC Priish E@é%%‘zfﬁ%@

..

D.=#t ABC - A'B'C’ m%ﬁ%

10,25 B % y = [sinx| =1 78 (0,+20) I S M/NBIKHES G MR 24080, W EBUERTEL ¢ )

NG

1
A0 Bl C—- D=
2 2



LLEsmEE f(x) g sUE R, H(y+1)f(x)=x/(y+1), m ¢ >

A f(0)=0  B.f(1)=0

c.f(x)R#m% D f(x)RHME

12.mE, AR C, (keN,)#umT i P(-2,0), BC :(x+3)’+(y—1)’ =2, BELx+y+2=0

5 C SRR A A, K44, =2, WFASRERKRE

Y

s

AR C, AOHEEZ x+y+2=0

B[ Coo 17124 (x +52)° + (¥ — 50)° = 5000

CHERC, 5 Y MrE s, k.8

DB B L x = -2 5 C, fE5 —RIRMZE 50 B, . N|BB,,|=1

=VREE: AL 408, BAMES 5, 3820 S RERFEEFERPRRL L
1300 %0 y = sinx + 1 B R AT R4y = sin(x—%jﬂ B R E A LA PR A L K AR )

\/;,x... 0

,x<0,

14.a%u@§&f(x)={ P S (x=1) < f (200) B x o EUARL P A )

15. 25 C:y = x> SHLY=ax T A BWH &, S DEMNEC L, HaABD NEM=FIE, W

aABD TR/ IME N
16. 0018, KRR R AR K B AR o, B AS LAT AR e A e AR TR I IE N BT EL BT P M, % IE N
FERRINAR 2, 9 8, WIZJ LA AR AR A

J

|

VU FRERR: AREZL 6 /M, 370 4 RERS HCF UL EH SRR E DR,



17. (10 43

EaABCH, DNBC L—fi, CD=~71,BD=4J7, B ~BAD=90".
(1) & AD =23, K AC:

( ) ZCI4D 300 >R
2 E = ’ j{ C .
18. (12 /7\1)

g, fEVURHE P— ABCD %, PD 1 ~Fiii ABCD , &I ABCD NEMEHY,
PD=CD=AD=2AB,AB // CD,AD L CD .

P

A B

(1) {68 PD LREHFAESE, 19 AE // Vil PBC ? #4745, I8 A E WAL B IFEH; AL,
IGRL R R

(2) K1 PBC 5-F1f PAB WA EIR/N.

19. (12 43)

wxg{a, b, a=12a,,-a,=n+2.

(D EW: $51{a,,, —a, -1} FE¥5.

2 %bﬁ;ﬁg . SKHH{b, ) HoR 0 AT,

20. (1243

CAIERHE S (x)=x" —ax—24x +b, Eﬁﬂéi%y=f(X)Eﬁ(%f@))&iﬂ@tﬂé%ﬂ%?’ag.
(1) R afl;

(2) %xe[0,b](b>0)if, f(x)mEEN[0,0], Kb HIfH.

21. (1249

2

2
SR C: 25— = 1@ > 0,6>0) AR F(NT,0), Witid rF y = igx-
a

(1) RAHHZ C 177 FE.
(2) CHIXEheE C e AHTS N A B, By =ke+m 50 CHE AXHNETFHEM,N (7
T A,B) BELk AM,BN (st mhk, ky  #505 (m,\Bk ) EL C b, AEW kk, i, ek

ZEE.



22. (12431

CLnE L f (x) = asinx—(a+1)x.
(D i—'.a=—%a¢, EH: f(x) RE—EA.

(2) #xe(0,7), f(x)+xcosx >0, sk aHHEETERE.



	空白页面



